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I = 2022213 2022313 = P P
3} 5 EZ oAt 20 A
=N 130,154,603 134,738,177 -4,583,574
129,304,836 134,728,177 -5,423,341
128,897,210 133,698,676 -4,801,466
5110 s52+¢ 128,897,210 133,698,676 -4,801,466
5111 &2 stad 662,640 774,410 -111,770
120060  Cist Yet= 635,536
120061  Cist st=(HY) 27,104
5112 CiEt A set= 893,730 1,049,970 -156,240
120062  CHstel Qst= 366,420
120063  S=Oistd gst= 527,310
5113 &8 553 104,391,899 107,755,760 -3,363,861
120081 CHet SE2 102,597,396
120082 C{st SEF(HY) 1,103,430
120083  CHE AES7| SEF 691,073
5114 LI ASEF 22,948,941 24,118,536 1,169,595
120085 CHEHR S&3 10,389,004
120086 S=Uistel SE= 12,559,937
407,626 1,029,501 -621,875
5410 O 20| Xt=¢ 377,573 309,500 68,073
5411 Of| ZO| Xt 377,573 309,500 68,073
120390 O ZO|XpE2EH|+= 377,563
120391 O ZO|XH2ZH|=2)S 10
5420 7|Etn |2 30,053 720,001 -689,948
5421 T4 30,053 720,001 -689,948
120418 7|El (S EZ2A) 30,053
900 10,000 -9,100
1310 FE D™ RO 2= 900 10,000 -9,100
1316 At2F2 0§ 2t CH 900 10,000 -9,100
120045 X OHZCH (SEF24) 900,000
O|AHE 7|01 E Atg 848,867 0 848,867







O xlzel #

SHEHR| : M el
4t é ZOZZE'I'EE 20225‘“":5 =710l MEIA A= 2oM
o gt = =4 oM 20| A ° = e sEe

SN 130,154,603 134,738,177 -4,583,574
4000 H|EX| = 127,174,608 130,594,287 -3,419,679
4100 E=2= 72,714,486 72,606,898 107,588
4110 DY 54,565,353 55,288,672 -723,319
4111 Y29 37,795,156 39,465,000 -1,669,844

130900 Mng 23 29,127,999

130904 3stus 52 731,897

130906 gojus 52 1,400

130909 HAns 25 101,952

130911 drns 85 214,964

130913 Mm@y X HH| 7,144,231

130914 o AL AT 55 472,713
4112 &S 49,992 50,000 -8

130930 Q=0 Meuwd gtz 49,992
4113 D= 16,330,808 15,124,092 1,206,716

130932 Y gErdEa) 2,082,056

130934 BT = P il =) 291,181

130937 o ItEsy 253,210

130939 ne XFEIH|(EE]) 244,800

130940 RSP IRSEL L] 865,140

130943 oY HAHGAH| 400,954

130944 oy EHATLK AH| 1,185,958

130945 oy HEZIHH| 1,949,765

130958 7\t o Mg 170,300

130959 ny ==z XA 1,061,631

130963 CHE MM AENZALE 1,761,650

130964 CHEE H| M Y AE L ALR 3,818,431

130965 CHet Mdumd AES 7| ZALR 171,132

130966 CHEH Y MAMAEXTZALR 45,900

130967 CHEHY HI M YU /AEDZALR 327,788

130968 St MAXRNZAR 11,250

130969 E0fgt @ H AR ZALR 61,920

130970 Mroistel MexatZALE 9,000

130971 AriCistel HMLE=0ZALR 257,558

130972 ZEjet MAxZ AR 3,750

130973 ZEE Y HI MUY TA R 20,970

130974 =20 stiete MYXZARE 800

130975 =20 =tiete B YZALR 265,915

130980 SUXECHet MYXNZARE 148,000

130981 SYUX2CHeHY HHLZALR 411,285

130982 nFCiste MYxaZAE 43,600

130983 WFCHste HIMAXZNZALR 92,106




Zoictel : o

N
rio

1
4t = 20225‘“‘55 20225‘“":5 =7IoH MEIA Al oM
o gt = =4 oM 20| M e = T sEe
130989 RS S SR RS E: 55,395
130990 Atz EX| e M AXZALR 9,750
130991 Atz|EX|CHEHY ™ AR Z AL 40,248
130995 @l CI7hE A 86
130997 (Al et ohm @A = 169,860
130999 (X7 2T E R 98,700
131311 Y ExRsg 720
4115 A|ZHZ 9|2 96,720 160,000 -63,280
131120 CHSE A|ZHE AL AES 7| ZALR 96,720
4116 EYZL9 B 40,100 49,580 -9,480
131175 7|Et ZAIR 40,100
4117 LA EXZ 252,577 440,000 -187,423
131190 ne gz 206,661
131192 ol X 45916
4120 Y= 18,149,133 17,318,226 830,907
4121 AY=9 9,992,944 9,700,000 292,944
131220 A 52 8,193,769
131222 A YE X | 1,799,175
4123 A= 3,374,194 2,996,609 377,585
131233 A d2sE(ED) 657,527
131235 Y HasEE 148,676
131236 A ItFEsY 132,102
131239 Y AZERH| 321,065
131241 HHER 2 K| 353,541
131242 A2 G MG Al 206,411
131243 Y HEZIH| 767,055
131244 A3 EYHSHEX| T H| 507,090
131246 Y EFYR T 55,564
131247 U =EH| 54,144
131248 AlZte 2R =E 97,898
131254 7|8t &Y =g 3,450
131257 (&:/la=ton | SESE DS Bty 25,196
131259 (RIR7t 2R 1,200
131260 A 7 A 43,275
4125 LA = Q1| 4,160,813 4,103,500 57,313
131285 ALY 22 4,157,983
131295 ALY HE (EMHERTY 2,830
4126 = ¢ 146,296 168,117 -21,821
131310 2degx g 114,250
131314 Az EE23 =29 32,046
4127 MYUE| A F 474,886 350,000 124,886
131320 A Y E[AF 474,886




oy
2
i
=
2t
o

T = 202281 202255 E = ron AEa JU
o 5 E =7 oAk Eoj 4 °=m il o

4200 2|2 gH| 19,277,749 19,270,967 6,782
4210 A AZZ[H| 9,828,400 10,007,398 -178,998
4211 AZEF2[H| 2,554,499 2,589,934 -35,435

131330 2t HE WS A 289,131

131331 ORI - Qk(EIEHE) Al SAt 52,980

131332 QHM | OFA| D E 4=F AbH| 167,372

131333 Zt HE 22 SAHH| 738,490

131337 2t HE T SAHH| 195,902

131339 Zt 3 T3t SAHH| 1,500

131341 DY ELT &H SAIHUF X H| 29,208

131344 Ol LA obd 2 E|H| 80,695

131350 7|Bt 24T JHE S SAH]| 66,892

131352 7|Et Z+F T E 4 SAH|(ETh 10,000

131355 ZHE iR E Y FX 2| 483,484

131358 AN RX| 22|H| 95,832

131359 TSAIE |X 22| 6,428

131361 7|2 | X 2| 20,884

131362 S3H X #ely| 17,180

131363 AN S ALY FX| 22| 6,547

131364 HEA FX| 22| 54,151

131365 S47| |X 2H| 77,545

131367 A=Y &5tz el 7,527

131369 Motz e 32,750

131372 (Alekstah g2t A7) M| 120,000
4212 ZH| 22| | 960,329 1,315,288 -354,959

131391 g S M&5E FH| 2| 20,703

131392 Zo|AH|E || 5,500

131395 steg 28 B X H|AHL) 130,264

131396 steg 28 B RX|H|(AH]) 24,571

131397 HESIX| Y TH| X H[(H 2 705,034

131399 APR-E ZH| #2(H| 32,828

131400 ghE 2 2H| 22| 2,482

131404 7] 2 37|™8E7| X/ H|(HQ 3,781

131406 2| =2[H|(S) 19,695

131407 7|Ef FH| 2| Z2[H| 15,471
4213 =Z o] 70,557 62,623 7,934

131422 mLf = AXY =2y 17,476

131424 Hojd 8EH| 6,739

131425 7|Et ZZae|H| 46,342
4214 LS EE[H| 7,100 13,788 -6,688

131431 SHED ATE ASH| 6,100

131433 S=gEHEEH S) 1,000
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SHEHR| : M el
a5 20223 2022 E = ron PR P
o gt = =4 oM 20| M e = e =
4215 A|Eg89H| 5,778,313 5,686,697 91,616
131441 AldZE QHETICH 89| 64,379
131442 Qm E HEE 33,000
131443 MR X| 242 64,306
131444 SUIRX 89| 52,782
131445 A9 3,666,645
131446 ZHE Hi Y U8 29| 7,280
131447 AH| 89| 1,587,685
131449 mLp | 11,700
131450 EXM7|E My 14,680
131451 7144 89| 87,791
131452 7|Et A|E89H| 188,066
4216 282 111,272 88,385 22,887
131460 ZHE B E™E 101,259
131461 AsSEYHE 8,158
131463 MRAEZEHZ 853
131464 JEt Z4F 2R 1,002
4217 2| A AXtE 128,890 130,023 -1,133
131473 SA7| AR 116,805
131478 AE X Xtz 11,355
131479 7|EF Akt 730
4219 7|EfA| G 22| ] 217,440 120,660 96,780
131491 JIR2E MK 9 22 ZA| 12,448
131494 ZtE ot A X(H| 14,290
131496 7|Et mLf A|HE HX[H| 43,633
131499 2T MSAEE FA 2H| 24,400
131504 m=X2| & X 22| 1,500
131506 Mo 23 Fy| 4,000
131507 M7 88 +2 6,740
131509 A7) Held| 74,864
131510 7|EtAIE EE|RX[H| 35,564
4220 LEkaE|H]| 5,936,566 5,842,425 94,141
4221 Of{H| 1 EH 75,431 25,800 49,631
131560 AlLEEH| 10,903
131562 AILHEEH|(S) 7,100
131563 DR AMFAUERE MAIRSH| 1,550
131567 oA =Y nEH| 42,692
131570 09 i EEH| 13,186
4222 K2k X|H 129,500 117,680 11,820
131602 KR S| 93,048
131604 Krg==2(H| 26,000
131606 EFO|O] - S A H] 240
131607 NECZEIS 4792
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20223 2022 E = ron PR on
2 = 37 o 2o el s |

131608 EomAo= 5,420

4223 A D EH| 106,866 139,240 -32,374
131623 MEZ ME AREH 3,473
131626 25713 0] ARE T 2,380
131628 AtRE detamE 39 10,538
131629 FAb AQZEOl 9,467
131630 SALEX| 7Y 18,526
131631 oIfEE 7 7,794
131632 EMEe 88| 16,680
131633 U7X A EE 6,448
131634 LR A EE(S) 8,307
131636 2tE o QIE A A A 3,800
131640 St S WAL AR EH| 1,200
131642 7|Bt 24T AZEH| 17,953
131646 EHE 8FH| 300

4224 QA EThH| 62,625 101,883 -39,258
131662 mshE Y QI 6,000
131666 AaE A= 14,365
131668 ea=ps (B 2,376
131671 =SSR 3,000
131673 EmE T A QM 17,702
131674 B AME SN 13,777
131676 ZtE M A QIAH|(S) 2,000
131679 7|Et 4T QlfH| 3,404

4225 ‘hebH| 127,453 135,580 -8,127
131692 A aF 123,389
131695 7|E} ]| 1,884
131696 7| Ef HEbH|(S) 2,180

4226 M7 =8 3,656,178 3,620,000 36,178
131700 Moled 3,131,393
131705 £ 524,785

4227 S41H| 309,589 351,358 -41,769
131721 Udt M3t a 67,542
131726 HREHRS 6,071
131727 FHRHELZ(S) 9,942
131728 A E JUE 23 2,046
131729 S 0| 8R 223,251
131730 sS4 0|8E(S) 738

4228 M M|-31t 915,171 821,636 93,535
131741 24T #olz| AAzlH| 70,325
131743 stoi 3| 3|H| 2,080
131744 |El =[] 2,130
131746 ASKE M2 6,210
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SHEHR| : M el
4t = 20225‘“‘55 20225‘“":5 =7IoH MEIA Al oM
o gt = =4 oM 20| M °= c= S
131754 7|Ef HME 1= 834,425
4229 X|[gRB 553,753 529,248 24,505
131773 AlEE AHTCE 2T FA 63,810
131774 24T A 5 296
131777 AT EQ O] AFRAH AR 462,247
131782 YHOIEZ 24,363
131785 7|Ef =8 3,037
4230 2FH| 3,512,783 3,421,144 91,639
4231 B2|Z /4| 447,901 476,800 -28,899
131806 mMESE IS o -Rer 136,931
131807 DA AZAHEIH| 71,700
131808 SEMEH 2EH|(Y) 6,022
131809 EMEA 2HH|(S) 11,393
131811 HEENM 2| 133,500
131819 25 A 2,700
131822 DA 7| et SMEX|X|A 27,885
131823 7|EF SAH[(S) 4,838
131824 DAAMAIY SSOX| S 8,000
131826 SE2| 24| (2|2 HAL AlCH) 6,662
131829 DA AxX Y 38,270
4232 NS AH| 193,939 212,580 -18,641
131841 Y sta| FIH| 4,000
131842 SoIg|(E X m) & 3,000
131845 s GlasH| 32,175
131848 DAY FE nSH| 119,523
131850 7|Et D= HH| XA 35,241
4233 LetEAH| 1,159,036 903,814 255,222
131871 2T ZEPHH 89| 2,000
131873 HED|A X2 9,900
131874 ZAL 9| 18,700
131875 TAtztate s 89| 2,000
131878 7|EFA Y B9 1,126,436
4234 7| 2% LR FZH| 19,865 13,200 6,665
131905 7|2 ghsH| XY 19,865
4236 7|Ef A FTH| 10,670 5,520 5,150
131903 A=X 3tsiry 5,350
131904 ARSSIN(S) 3,800
131907 2tE EHH| X[ RF(S) 920
131908 St MSE Z 04 EH-H| 600
4237 THH| 400,737 404,738 -4,001
131930 LSt =& QlffH| 2,265
131939 S I ) 20,000
131942 bt == A0 83,912
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SHEHR| : M el
20223 E 20223 E ooy P P
o = =4 oM 2 0f| A

131943 Cistm ojojx| &2 13912
131947 X ZTHA 75,890
131948 25 A& 89| 29,981
131949 s 3| 21,031
131950 =20 gsH| 29,487
131953 SHE CIXtQl| 9,108
131954 =Hg ADE 10! 738
131955 SEE AMTEY 9,980
131956 2t 2N RS E 52 J7|EE 59,788
131957 CHEt ofLy A& A & 10,080
131959 7|El ZEH| 34,564

4238 3| 9|H| 58,715 52,450 6,265
132002 CHEt 2 of(fl@=l) ZH| 37,641
132005 2tE 2| =[] 969
132007 S0t 22| dH| 809
132008 2|olH| 2& J|ErAH| 6,966
132013 ZA FI A 12,330

4239 SHAH| 195,030 278,270 -83,240
132031 A|RA QL Z2A AH| 5,000
132039 st 5k =04 AH| 25,571
132042 7| 25X AL ZH| 141,255
132044 HUHELA ZH| 3,407
132050 HAREE A 672
132051 Ll 7| et AtH| 15,667
132054 S-St 7[EFH A 3,458

4240 M mH| 232,295 228,969 3,326
132100 HE ZAHIS T8 Ay 63,661
132101 WS RHETH A 3,272
132102 mLf Z+E ofui ]| 10,841
132104 o544 29| 1,639
132105 SsES dog 10,000
132106 7IENE XY 3,207
132107 7|58t etz 6,800
132108 53| 2&H| 5,653
132110 MAZE ZH| 15,940
132111 ML=z ZH| 4,626
132112 ZEI0fHI B 2 GH| 22,866
132113 QIF WX gF K| | 81,689
132114 MAEN T 1,000
132117 7|Ef M| XA 1,102

4241 7|Ef2QH| 794,595 844,803 -50,208
132142 7|Ef XA ZH| 550
132143 o A A8 FH| 41,656

14




SHEHR| : M el
! 202291 202257 P PR
o gt = =4 oM 2 0f| A _

132144 =N mF ALY ZH]| 439,374

132150 OH| =3 2o 2 $+AHH| 506

132151 D nEH| 180

132152 HE M Agm 3,000

132153 YA E ZH| 9,771

132155 O|AtH 28 H|E 1,661

132156 Z2A|M 7|EL2FH|(S) 1,000

132157 A Al x84y 854

132158 ELE 29| 1,800

132167 7|Et 2E4H]| 154,673

132173 (Al St nhAt Y2 HH| 119,870

132180 (wH)F OS2 HH| 19,700
sHl A 33,069,711 35,846,222
4310 -] 817,269 1,191,590
4311 S| 444,483 821,400

132208 DEPENE o] 6,600

132211 JHang 2 Y A 50,000

132218 oy sh=gs o] 135,984

132228 oA AHTH| 10,000

132234 QIF AgtH| | Cf8 SHH]| 211,500

132244 A O H|(RHH ntetLy & 2,920

132245 A SH|(3ateiEh 5,680

132246 A AH|(O &M SIS 3,040

132247 A SH|(QlZ20Eh 3,240

132248 Agta AH| (At kSt s 2,840

132249 A HH|(ZACEh 2,880

132250 A e (- atoish 1,680

132251 A dH|(H=0Eh 2,080

132252 A dH|(E=E7| E2m KOs 1,879

132253 A FH|(ICTEE S 2,160

132254 A gFH| (Y |0sh 2,000
4312 Aa2|y| 372,786 370,190

132303 2T Wol/E M g 4| 353,564

132314 DEE Y oAy 6,625

132325 dE e g gy 12,597
4320 shd4H| 32,252,442 34,654,632
4322 nUEsta 26,845,405 27,689,778

132401 CHet = =X % 7HF &gt 185,623

132403 et 2= &st 328,942

132404 Chst MR Zsti g 45 121,571

132405 CHE & Est 3,178,222

132406 CHEE 7hA =2k} 2et 3,299,713

132409 CHSt 9| = OISt 2,678,806

15




SHEHR] MY
: _ 2127245}'.-35 2022 A AEa M=o
! = 2 O At £0f| A _
132411 oiah £7|%st 1,975,668
132412 oieh S ast 1,459,316
132416 Cist shdets et 2,523,471
132418 et =2 &et 188,013
132420 LSt A|ZHA| OF2HIOIE 526,386
132421 CHst 7| etatret 200,325
132422 CH&h AlZEA| OFEHIO| E(Z A2 81,296
132442 chet@l &st 6,875,966
132443 Oistl 5% 54 &st 57,306
132445 (HlFstnty cHet@l &et 11,000
132450 Eoetd &t 2,029,491
132462 STXEOEY FE 990,013
132470 Atz S X|CiEt B 134,280
1,251,606 1,250,117

132550 Cist M ASH|(QI20hEh 27,522
132551 CHs Ao A SH|(At2| atetiish 28,733
132552 Cist MHAMSH(ZYoiE 20,989
132553 Chst M A SH|(Eacheh 2,595
132554 oheh Aa A SH| (Rt ateth 30,157
132555 Cist M ASH|(SIChE 310,186
132556 Cist MHAMSH|(HSONE) 77,290
132557 Chst Mo A SH|(Ol& XS OhEh 183,270
132558 oheh e A SH|(QIEXEF/ICT) 42,325
132559 Cist Mo A SH|(RHHAHR 35t 2,600
132564 CHet A A& (O sgtolgh 9438
132565 CHet A A S| (RFAH/ICT) 23,131
132566 CHet A A SH(FHESR) 5,203
132570 CHEH e HEASH|(22AR]) 7,010
132571 st *E'%*E'AHI(OMHIIT 18,973
132572 st *E'%*E'QHI(E’*OH 54,594
132582 MrChstel HEASH| 9,974
132583 SEEAriste AEAE| 1,755
132584 =310 =ChehY A EH| 8,977
132585 ZEjety HeAEH| 945
132587 EKZOie Y AH A&l 60,198
132588 st dEASH| 2,590
132591 A2 EX[CHEH HEASH| 891
132592 JEYELSHEONSHE HEAE 5175
132594 Erjetel i A A& 4,294
132614 MM sz AR 153,985
132615 Zol8 ZEIM MEE 36,000
132619 YN ADE 18,753
132623 HEAMSHIX|H 15,000

16




ZHCY| - M
SF 15|
_ - s | o 52 M2 HE3Y
132624 ZIE xS A% & 68,549
132630 DAY 0§ AEH| 10,905
132640 (Al eFstah A A &S| 9,600
2,194,027 2,792,107 -598,080

132731 CHEH @ SHl x| | 6,011
132733 E0fgt @ Sl X | 4,322
132735 AtCHEE R S| 2| 1,418
132738 =310 =CHEH SHAX| = H]| 1,096
132741 SYXEOE Y sl X| = H| 7,700
132745 Atz S X|Ciet sHl K| = H| 228
132749 25 T5Y Uz M| 131,169
132750 2TE T5E S5HA =HH| 99,400
132751 25E T5E S5tA 8FH| 39,392
132754 5248 4| 2,000
132756 2SE 4 HEH M 7,150
132757 2sF Mg 2xg 374,776
132761 AdegEH X 86,400
132763 e &8 ¥ea 1,900
132765 7|et &8 X¥ 10,880
132766 Stlis| StsghE 4| 19,831
132768 stolax g2s 4| 11,000
132769 =088 A JHE[H| 4,955
132770 Atg| BAIZE A 44,860
132771 stdigts X 24| 50,911
132772 otz 7t A= 9,000
132773 St D] WAL K ZH| 15,683
132774 HHORK| ™ ZH| 12,534
132775 SO A ZH| 238,097
132776 CatCH(stoh ALK A= 4,619
132777 MY =tASAL B OT X[ 13,935
132778 ofl 5| st m a2t ZH| 36,596
132779 INX A SA &E 4H| 3,375
132781 SOt2| AL ZH| 13,521
132783 stags 4| 2,539
132784 stlxtegs 4| 2,462
132785 stal 3h2|4=0f AH| 19,531
132787 LS = 7t2A| 9,175
132789 AR Z AL Foj=EIlZ] 3,227
132790 LS = SAA| 5195
132791 7|Ef Bt SHAL | ZH| 3,898
132795 CHotCy st sheX| = 2E2 g a 74177
132803 ZEXt H A 2 54,732
132805 ot 9| Nt M & 1,000

17




SHEHR| : M el
202291 202257 = ol P PR
o = =4 oM 2 0f| A
132806 St Colgts K= A ZH| 12,978
132811 OjCjofME 2| 2,229
132812 MEA U E FAER 1,440
132813 HCHAZ AL B OHE 2} 2 5,972
132814 Yo A2 A Efy| 70,726
132815 HLH S = A ZH| 10,702
132816 AXAE M= 16,507
132818 HHA E 31 4,496
132819 7|Ef SHX| A A 572,910
132821 MM HAHI|E K= 67,123
132825 CHSHR GKS2|= 215t X[ R H| 250
4329 7|EfeHd AH| 1,961,404 2,922,630 -961,226

132911 ottt 7|Et 2GH| x| | 10,789
132912 SotA 2gsH 13,198
132913 IS A AL SHAL 3,942
132914 FRI=H Zy| 11,930
132918 EStHAH BEX 659,432
132926 CIMmE =21 2UH| 299,734
132928 st HPmats 23| 13,615
132929 F Y oo Zxt 28| 7,850
132931 Wl E M3t Zat 13,600
132937 T3/F /&Y otz |4H| 20,140
132939 TZ2/F 70| = K| 2| 3,313
132942 FUX = ZHSEH| 13,752
132943 7| A 2e| gEH| 4,100
132944 FFate HArEy| 7,118
132946 7|Et ® ZH] 21,046
132947 SAEASKYAEH 2G| 3,304
132948 oflH| = 2| 53,271
132951 S MutAstgl M ojLt ZH| 3,179
132956 AR 2| 4,398
132958 AR | X ZH| 7,200
132961 St AR ZAH[(ER) Q) 29,414
132962 AehaE EZF ZH| 587
132967 HERE AKX 7 10,266
132968 HE Aol dez 24,000
132970 7|Ef AEREHE A ZH| 5,765
132972 7|Ef st 2t ZH| 129,503
132973 ZH0|H I 2,999
132975 AEEE T 72,391
132976 EAZFHRY 10,000
132978 7|Ef St AH[(AEH| T8/ 6,694
132980 7|Ef St 22 ZH|[(21&) 200
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T = 20225 202255 E = 7ron AEa e
T, & = 7 o 204t °== s b

132981 7|Et sy = E ZH|(XtH) 500

132982 (CHS:CHEhH HPY== 23 230,000

132984 (HlFstnty 7|Efeted A | 253,117

132985 LS5 11,055
4400 1 QH|2 112,662 70,200 42,462
4420 7|EfSQH|2 112,662 70,200 42,462
4421 T 112,662 70,200 42,462

133300 et etz S53 2= 92,183

133302 Exgd o SE3 22 8,265

133303 7|Ef Fr&A 12,214
4500 =2 1,700,000 2,500,000 -800,000
4510 M==2 1,700,000 2,500,000 -800,000
4519 HIEE25ANEZ 1,700,000 2,500,000 -800,000

133334 HESEZS|AMES 1,700,000
4600 O[H[H]| 300,000 300,000 0
4610 Oj[H[H]| 300,000 300,000 0
4611 Of|H|H| 300,000 300,000 0

133335 Oj|H| | 300,000
1300 EXHAFOR K| = 2,979,995 4,143,890 -1,163,895
1310 FE D™ LR &= 2,979,995 4,143,890 -1,163,895
1314 7| A 7|04 4 H| 1,264,551 1,622,708 -358,157

130619 CHEt AE MG 71A 7| 7 (RH/ICT 43,630

130620 Oist MHAS 7|H 7|72 LH/I 8,039

130621 CHst A s 714 7| (Ars| ot 9,000

130622 CHst s 71417 (@aost 2,000

130623 CHet A s 714 7|ty st 2,500

130624 CHe MYAME 7|AH 7| (Kt A otst 29,708

130625 Cist A E 714173ty 195,430

130626 Ciet A s 7147 Fdsos 23,333

130627 CHe MYHAME 7|H 7|7 Ol&eX = 73,902

130630 CHet deids 7147|208t 243

130640 Cist AE 7|14 7| (0| & A ) 9,258

130641 st Ad 7|1A 7| H(SE0s) 15,012

130642 CHEHY MY 7|A 7|+ 357

130652 Areicystel HEAGE T A | A 8,415

130654 SR EOEY HH 7[A 7| 9,679

130655 nFCiste HdEAE 747+ 1,500

130658 =20 =tiete HeEAdE 71474 9,103

130666 D INA7|IFHEE) 395,765

130672 DAWFI|H 7|+ 3,000

130677 AH2& PC 127,898

130680 ALRE 7|ELI| A 7|5 23,065

130681 ALZ-E 7|EL7[AH 7| 7(018) 14,255
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202291 202257 = ol P PR
o = =4 oM 2 0f| A

130683 EME Z1A 7| 13,320
130684 BEDFHRIA I|A 7| F 46,860
130689 7|EF 21 A 7|+ 89,642
130695 (Astahd S 21A 7|+ 109,638

1315 & 7[H| S04 Y| 270,783 224,111 46,672
130709 CHe MyAME &7 S X S/ICT 703
130710 CHe MyAE E7IHE(Q2LH/] 36,578
130714 CHe MyAE & 7|H| 2Kt Hatst 16,024
130715 CHet MyAE &7|H| 2 (Sotohet 15,380
130717 CHet MyAME HIHZOIsXMS 12,042
130731 Oiste e 27|HEESENSs) 4,640
130732 CHEHY MY ®7IHE 2,660
130745 nEoistel s ©IHE 811
130756 =g HIHEHEE) 839
130757 nsg HIHE 38,231
130762 MR8 FIIHIE 94,848
130764 A28 HIH[E(R2) 10,959
130767 EAE IHE 7,721
130775 (AfsthAsAE R7HE 29,347

1316 At2H-28t0f | 20,000 20,000 0
130780 (SE)XETYH| 20,000

1317 ZA A H| 1,424,661 2,277,071 -852,410
130792 W8 ZtE Ty 22,500
130797 M=) 220,000
130798 EMF L= Q) 40,000
130799 o= Xl 7 | 1,142,161
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